Thule SmartClamp System
for TO 6200 Pack 2017

> Instructions

301643-301644-301645
ADR908-00 | 3380045200 Bring your life
2017-02-21 thule.com



L2H2
L3H2 |L4H2

)""
M6x12

L2H2
L3H2 |L4H2

Vi

M6x12

L2H2
L3H2 |L4H2
¥

L2H2
L3H2 |L4H2

For TO 0 Pack 2017
> Instructions

DN
L2H2
L3H2 |L4H2
Hi

L2H2
L3H2 |L4H2
M6
DIN 985

e

L2H2
L3H2 |L4H2

N

o

(&)
,Gm
bIa)

,

M6x12
DIN 933

L2H2
L3H2 |L4H2
L2H2
L3H2 |L4H2

DIN 7991
DIN 603

,

M6x16

2.83m
3.44m
3.78m

L2H2
L3H2
L4H2

L3H2 |L4H2

\

N
@

\

\\%VL

o\ L/ N

L2H2
L3H2 |L4H2

ADR908-00



C J
MAX. 150KG
MAX. 200KG
MAX. 200KG

_ 2.50m

2.50m

2.50m

ADR908-00




ADR908-00



ADR908-00



ADR908-00



ADR908-00



Glue / Lijmen / Verklebung / Coller:
e recommends / beveelt aan / empfehlt / recomman de:
SIKA 252 or Terostat MS937

ADR908-00






L2H2
L3H2 |L4H2

L2H2
L3H2 |L4H2

L2H2
L3H2 |L4H2

M6x12

/

5

DIN 9021

M6

DIN 933

&

ADR908-00

10



L2H2
L3H2 |L4H2

L2H2
L3H2 |L4H2

6

M6x12
DIN 7991

M6x12 ‘

1

ADR908-00



Thule One-Key System

_% 544 GQgp (x4)
m— _i 596 %Wp (x6)
| | | | | | 588 YWy (x8)

gy N «Q&@ _‘]( 452 @@ (x12)

Thule ProBar Flex

High (x2)
301647

D Thule NV, Kortrijkstraat 343 — BE 8930 Menen, BELGIUM @ inforv@ thule.com [A) www.thule.com



